Qty UOM Product Code

4 EA
4 EA
4 EA
4 EA
4 EA
4 EA
4 EA
4 EA
1EA

FMSHCS06025
FMSHCS08025
FMSHCS10025
FMSHCS12025
FMSHCS06070
FMSHCS08070
FMSHCS10070
FMSHCS12070
EQDRPL18L

Description

M®6-1.0 X 25 Socket Head Cap Screw 12.9

M8-1.25 X 25 Socket Head Cap Screw 12.9
M10-1.5 X 25 Socket Head Cap Screw 12.9
M12-1.75 X 25 Socket Head Cap Screw 12.9
M®6-1.0 X 70 Socket Head Cap Screw 12.9

M8-1.25 X 70 Socket Head Cap Screw 12.9
M10-1.5 X 70 Socket Head Cap Screw 12.9
M12-1.75 X 70 Socket Head Cap Screw 12.9

18 Comp. Plastic Drawer Large 13-1/8 x 9 x 2-5/16



